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& @An angle 6 in standard position whose measure is 24,972 has its terminal side in which

quadrant,? 24 9L 67(160)+ |32 _‘:Fl—““
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@ Consider an angle 8 in standard position whose measure is 120°. What is the measure of this

angle in radians? (20° 2
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& @ Determine correct to 4 decimal places: sec(-1.5 radians). Note that I changed the angle to a
negative quantity. A calculator might prove helpful.
A. 141368 B.0.0707 C. 1.0025 D. 0.9975 E. 1.0003
- none of these values are correct.

& @)Find the radian measure of the central angle of a circle whose radius is 16 cm that intercepts
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an arg of length 24 cm. S F
B. 0.8 c.z D. 0.16 E. 20 F. None of these is correct. "
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E‘ 6. Determine csc(— 7”).
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7. Determine the exact value of tan(—6—) - {
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8. Consider an angle 6 in standar iefl. Suppose the terminal side of the angle passes
through the point (-12,5) . Find the exact value of the secant of this angle. )
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